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Questions

Arms of an angle called:

The union of two non-collinear rays with common end point is called a/an:
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The system of measurement in which the angle is measured in radians is called:

The union of two non-collinear rays, which have common end point is called:

If Tan®=1 then Sin6= whenb lies in 3rd quadrant.

1+tan0=

Answers Choice

A. Terminal sides
B. Rays

C. Rotation of arms
D. Position
A

. Ray
B. Side

. Angle

. Vertx

1

C
D
A -1
B
C.0

. 90°
. 45°
60°
30°

w >

115’

135°
150°
30°

360'
630'
1200’
3600'

CGS system
Sexagesimal system
MKS system
Circular system

An angle
Degree

A minute
A radian

1/2

-1/2

C. -1/<span style="color: rgb(34, 34,
34); font-family: arial, sans-serif; font-
size: 16px;">V2</span>

D. 1/<span style="font-family: arial,
sans-serif; font-size: 16pXx; color:
rgb(34, 34, 34);">\2</span>

®» DO®r OD0O®P» UOEP TUOWP OO

A. Sin<sup>2</sup><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
16px;">0</span>

B. Cos<sup>2</sup><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
16px;">0</span>

C. Cosec<sup>2</sup><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
16px">0</span>

D. Sec<sup>2</sup><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
16px;">0</span>
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15

45°=

radian.

C. /6
D. m/2



